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Question 1: 


Using the ADT Queue operation:

1- Write a methods, called enquiry, to return the first element of the queue without changing the queue head.

Public T enquiry (LinkedQueue Q)
{













}




2- Find the Big-Oh notation for the method enquiry.















Question 2: Consider the following Linked Queue Q: 

tail
head





Redraw the list after each of the following groups of instructions:


a) Q.serve(); Q.enqueue("c"); 

	






b) Q.enqueue("v"); Q.enqueue("b"); 

	







c) Q.serve();
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